
2 2

あわせて あわせて

2 2

あわせて あわせて

1 2

あわせて あわせて

1 1

あわせて あわせて

2 2

あわせて あわせて

1 1

あわせて あわせて

× 5 ＝4 × 5 ＝ 2
(6) 6 × 5 (12) 9 × 5

× 5 ＝2 × 5 ＝ 7

9 × 3 ＝
× 6(5) 9 × 8 (11) 9

9 × 5 ＝

＝9 × 3 ＝ 9 × 3

× 9 ＝6 × 6 ＝ 2
(4) 8 × 6 (10) 6 × 9

× 9 ＝2 × 6 ＝ 4

6 × 7 ＝
× 9(3) 8 × 8 (9) 6

4 × 8 ＝

＝4 × 8 ＝ 6 × 2

× 6 ＝5 × 5 ＝ 7
(2) 5 × 7 (8) 7 × 9

× 3 ＝5 × 2 ＝ 7

7 × 5 ＝
× 7(1) 8 × 7 (7) 7

8 × 2 ＝

＝

□に当てはまる数を書きましょう。

8 × 5 ＝ 7 × 2

かけ算の答えのもとめ方6
(分配法則)

　年　　組　　名前（　　　　　    　　　　　　　　　　　） 
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あわせて 56 あわせて 49

あわせて 35 あわせて 63

あわせて 64 あわせて 54

あわせて 48 あわせて 54

あわせて 72 あわせて 54

あわせて 30 あわせて 45

＝ 105 ＝ 20 2 × 54 ×

＝ 355 ＝ 10 7 × 5
(12) 9 × 5

2 ×
(6) 6 × 5

× 3 ＝ 279 × 5 ＝ 45 9
(5) 9 × 8

27 9 × 3 ＝ 27
(11) 9 × 6

9 × 3 ＝

＝ 186 ＝ 36 2 × 96 ×

＝ 366 ＝ 12 4 × 9
(10) 6 × 9

2 ×
(4) 8 × 6

× 7 ＝ 424 × 8 ＝ 32 6
(3) 8 × 8

32 6 × 2 ＝ 12
(9) 6 × 9

4 × 8 ＝

＝ 425 ＝ 25 7 × 65 ×

＝ 212 ＝ 10 7 × 3
(8) 7 × 9

5 ×
(2) 5 × 7

× 5 ＝ 358 × 2 ＝ 16 7
(1) 8 × 7

40 7 × 2 ＝ 14
(7) 7 × 7

8 × 5 ＝

□に当てはまる数を書きましょう。

かけ算の答えのもとめ方6
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